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I fit2 = Im(Y~X2)
> fitl2 = Im(X1~X2)

3 plot(fitl2$resi,fit2$resi, main=’Added Variable Plot for X1’)
4 abline(Im(fit2$resi~fitl2%resi));
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AIEUL, BT A, BN ZE S EET AN RS E. £ RERSMEE” (Residu-
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> elist = fit$resi; SSE = sum(elistAr2) #$
3> X
> hlist = diag(X%*%solve (t(X)%*%X)%*%t (X))

> tlist = elist*((n-p-1)/(SSE*(1-hlist)-elist*2))A(1/2)
> cbind(elist,hlist,tlist)
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0.7161991891
4.0147327554

N

0.5705871038
0.6422984777

cbind(1,X1,X2)

elist hlist tlist
.6827093112 0.20101253 -0.7299854027
.6429311788 0.05889478 1.5342541325
.1759701405 0.37193301 -1.6543295725
.1584651200 0.11094009 -1.3484842072
.0002886579 0.24801034 -0.0001269809
.3608155187 0.12861620 -0.1475490938

.15551745 0.2981276214
.00628780 1.7600924916

.6551057360 0.11463564 1.1176487404
.4748115410 0.11024435 -1.0337284208
.2255110139 0.10926629 0.9231785040
.9468613463 0.17838181 -1.8259027246
.4474561945 0.14800684 1.5247630510

.33321201 0.2671500921
.09527739 0.2581323416

.8509464751 0.10559466 -0.3445090997
.7829198812 0.19679280 -0.3344080836
.8572887647 0.06695419 -1.1761712768

0
0
0
0
0
0
0
0
0
0
.3358063798 0.12033655 0.1366610657
0
0
0
0
0
0
0
0
0

.0404487275 0.05008526 0.4093564171

> max(abs(tlist)); qt(0.9975,n-p-1)
[1] 1.825903
[1] 3.251993
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hi; = trace(H) = trace (I,) = p
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3.1 {XiE

1 > ###Identifying outlying X observations

> > 2*p/n

3 [1] 0.3

4 > hlist ##Case 3 and 15 larger than 2p/n

5 [1] 0.20101253 0.05889478 0.37193301 0.11094009 0.24801034 0.12861620 0.15551745 0.09628780
6 [9] 0.11463564 0.11024435 0.12033655 0.10926629 0.17838181 0.14800684 0.33321201 0.09527739
7 [17] 0.10559466 0.19679280 0.06695419 0.05008526

HREATLE RS

I hat.plot <- function(fit) {

2 # RSN

3 p <- length(coefficients(fit))

4 # 4% AN

5 n <- length(fitted(£fit))

6 # % ih_ii

7 plot Chatvalues(fit), main = "Index Plot of Hat Values", ylim = c(min(hatvalues(fit), 2*p/n),

max Chatvalues(fit), 3*p/n)))
8 # p/BIn23 3
9 abline (h=c(2,3)*p/n, col = "red", 1lty = 2)
10 # BAT B EFHATIRE, HEHESC, REFENANRST
1 identify(l:n, hatvalues(fit), names(hatvalues(fit)))
12}
13 par(mfrow = c(1,1))
14 hat.plot(fit)

4 &5 & (Influential Observations) 8912 3l (F2 0143 )

W R T XY B2 AR, Pt FE e AL & [a1H s B 2 15 BT vl e A ™ 5
78 Hh S5 2R SRR

FERS — A HHE A S AR AR I, FRATT A B CRAIE UL 5 25 RN 0 B B ok — S s LA

S5 WL ARLOT 18] BRI B BRI P — A I B AR S WL A i - B3 R B e = o A
WRHin — I EAE RS T B R B b ) 22,

b=b

Ty — AT BE R
Yi =Yy



Index Plot of Hat Values
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4.1 =WES: DFFITS,

Belsley &5 & W R 5 52 5 I v &N
¥i = Pia hi |
DFFITS, = O _y ( i )
\[MSE(i)hii 1 - hii
d[ e; €; Vl’l 2 1
;E;EP ti = = = .
S{di} MSEq) (1~ hy) \/SSE (1= hy)—é?
tAER-FAENERZE,

42 Cook’sDEEE
AN WAL Ak 1 [ U5 28 505 10 11 5 B B 2 Cook’s DFE B, (31 it [71] U A5 28 () 64 b, 761 —
e BEACETR, TG p NEEASE B, k=0,1, -+, p — TIBRS BAE XK i0 72

(b-B)X'X(b-p)
pMSE

~Fi_o(p,n—p)

SN
? = Xb,?(i) = Xb(i) = ? - ?([) =X (b - b(,-))

A

D, = (?_‘?(”) (Y_Y“)) _(b=bu) XX (b-b)
E i — pMSE - pMSE

10



Cook’s D 4 YA A R 7 2 B2 50500 e 2650 WL BB N O il o el VA AR e Z2 R & R

p. = L= b)) X' X(b—bp)

pMSE
(Y-¥0) (Y-Y0)
- pMSE
n A N 2
Y ¥ =Yim)
-~ pMSE
n A~ N 2
XL (=) - (Y - Y0))
- pMSE
Z?:l (ej - d.i)2
~ pMSE

- st | ]
- PMSE | (1 - hii)2
_ hii 52
- P (1 - hii) ‘
b, = ——S R R WUE D, Sey hid %

VMSE (1 - hy)
SR MR R PR R AT DAA AR BT VR A RE,

l)i > Iﬂ150(17,n —']7) iAQ¥Jiygg§i§£uﬁ]ﬁi(ﬁﬁIqj1iZ§&)

4.3 FEE: f4itEV3RHEEDFBETAS)
DF B [N 2 4 R BUHR BRI 44,

b — br
VMSE iy

Hot e & € = (X'X)" AR e, HA MSE ) At o (by).

( DFBETAS );(j) = k=0,1,---,p—1

4.4 {XAECIY
HRAEPPT L (4 CHY

###I1dentifying influential cases

> MSE = SSE/(n-p)

3 DFFITS = tlist * (hlist/(1-hlist))*0.5
Dlist = elistA2 /p/MSE*hlist/((1l-hlist)*2)
5 clist = diag(solve( t(X)%*%X))

» b = fit$coef; DFBETAS = matrix(®,n,p)

7 for (i in 1:n){

fiti = Im(Y[-i]~X1[-1i]+X2[-1i])

bi = fiti$coef

MSEi = sum(fiti$resir2)/(n-1-p) #$

11



DFBETAS[1i,]

Dlist
1 4.595055e-02
2 4.548118e-02
3 4.901567e-01
4 7.216190e-02
5 1.883399e-09
6 1.136518e-03
7 5.764939e-03
8 9.793853e-02
9 5.313352e-02
10 4.395704e-02
11 9.037986e-04
12 3.515436e-02
13 2.121502e-01
14 1.248925e-01
15 1.257530e-02
16 2.474925e-03
17 4.926142e-03
18 9.636470e-03
19 3.236006e-02
20 3.096787e-03

= (b-bi)/sqrt(MSEi*clist)
> cbind(Dlist ,DFBETAS)

B
o
8.
ila
6.
o
7.

2

051821e-01
725732e-01
471013e-01
016120e-01
372122e-05
967715e-02
752748e-02

.614312e-01
ilo
Za
9.
ila
ilo
4.
3.
9.
7o
o
1.
ila

513521e-01
377492e-01
020885e-03
304933e-01
194147e-01
517437e-01
004276e-03
308463e-03
951208e-02
320522e-01
296032e-01
019045e-02

-1.314856e-01

1.150251e-01
-1.182525e+00
-2.935195e-01
-3.052747e-05

4.008114e-02
-1.561293e-02

3.911262e-01
-2.946556e-01

2.446010e-01
.705640e-02
.245800e-02
.924202e-01
.131722e-01
.247567e-01
.311347e-02
.504357e-02
.532874e-02
.072030e-03
.290797e-03

N A N VR R RN

3

2
=7
-2

-2

.320319e-01
.426129e-01
.066903e+00
.960719e-01
.023715e-05
-4.

5o
-3.
.469091e-01
.688086e-01
.484518e-03

6.
=3
.977042e-01

6.
=Zaq
=7
=il

6.
-3.

426759e-02
431634e-02
324533e-01

999608e-02
894913e-01

876929e-02
512499e-02
609008e-02
161003e-01
442931e-02
314146e-03

FlF cart # flinfluencePlot ) BRAEIA AT LUK 258 i, ATAFAE, smssm s 84 31—k K,

library(car)

par (mfrow=c(1,1))
influencePlot (fit,

identify"))

Studentized Residuals

-0 05 00 05 10 15

-15

sub = "Circle size is proportional to Cook’s distance", id=1list(method="

o i 15
o © ! o)
= O i
T T T ("\ T T f T
0.05 0.10 0.15 0.20 0.25 0.30 0.35
Hat-Values

Circle size is proportional to Cook's distance

50 ) H R

PSR S sz B, A BB i +2 880/ =2 A9 T AN o B s, KTt 0.2800. 34 AL AT
{EGEF N TNME R ZH &), TR R/ Sz e B, (5 Pl AR K PR ] B A2 AR S 0 il 3 A
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[F] Joji % B AL 2R
o YRS B B AR OCHTS, (A1 UH R B PR UE R ZE G OR, S RAR D¢ R B0 S B [BE R BUR B
ENS =N YSE N R PR TE ]
o SEUTHI(XTX) A0, 2RI N iR ZE AL 5 ZE 152,

T T TN AR B 2 6] BOR IR % R H0me Ui BH TT REAF AR 2 BIR AR, e 2 AN — 5 BROL, XN
% AL R AR P TN AR 2 ] R 2R ik

51 FEBEKET
Ji Z IR T OE B M THIE: Al B R AT 2 R B AR B A PEA O A LE 3 n 1 2

b,
EX (7 Z K T). iﬂR?%ﬁT AX;, AFMME &, ARGANES AT PR TS E
KR EAFT.

E(X;)=Bo+ -+ Bj1Xj_1 +BjsiXju1 + -+ Bp_1Xp_

RIX, 7 £ WA B F 2 A

1
VIF; .=
TTI-R
PUAE XS AL AT AR AL,
1 Y, -Y
- a= )
n—1 Sy
1 X; —}_(k)
X = (k=1,..., p—1)
g Vn -1 ( Sk
1 ri2 Fi,p-1
a1 1 T2 p-1
I'xx =
(p-Dx(p-1)
Fp-1,1 Tp-12 - 1

o b} = (0 rxx  oH{by} = 0 {b} = (") (VIF),
VIF 5 ry S AT 76, BT BAIE B

(VIF); = W
HARIEX, S5F FHIp - 2 XTE G I vz 250, 5T 9 AN T AR & 1 15 00, IX i
Ri = "%2

BILX AT 1 B R A B (BIATR R R 5.
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o UR2 = OR, B X, 5 HoAth X AS AR 260, D7 ZE IR TVIE, = 1.
« UR2 £ OB, VIF, > 1, £Rb, 07 ZHA T, X B bl F XA

(0)?

o*(BY) = (o) (VIF)x = = ©

o MURE = 10, IAVIF, 0 (b)) HAE BT TS K (00).
B AT RIVIF 7K AT 1 3l oo 2 [H].

P XK IR (VIF), 385 A 2 S A28 V™ AR 1R As, W KIVIF it 10, B
max (VIF, -+ ,VIF,_;) > 10

W RO 2 AR AT RE I B I /s ARt THE.

VIF (PP B HB i 4t 7o T 2 It R ME R, & DU S AR A 0] U5 22 K 125 51
S2B; IIFRRE, AT LAE R, SX SeiR 22V 0 Ml (b, — ) AR B A2,

p-1 p-1
E|D (b —ﬂ;)ﬂ = (o) ) VIF,
k=1 k=1

U RANAFAE XA B SRR T R LA AR AR OR, IBA RS = 0, BILVIF, = 1, R H

p-1
E|> b} —ﬁ;)zl = (@)(p-1)

k=1

bR A R RIS BV T F ISP BV F:

_ IVIF
VIF = Zie 1"

e DRBAS RASE, SETVTFE AT UM, AR 0% B L b,

52 FHBEED)

P 2 AL T AR ) 7 — MBI T B rxx 2R, How SUR
A1
A

k =
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